Q

Q

These were made with 2n3904 and 2n3906
transistors in mind... Most transistors
should work, but mind the orientation.
BC556, BC546, and other transistors
would need flipped, so check before you
solder. I also omitted one sandrode, because
I found it unneccesary, it would be
connected to the base of the NP\,

"A" and "B" are the sandrodes, the asterisk.
node is the output. The unmarked
capacitors should all be of the same value.
VCC is 9V, but a little higher or lower
would probably also work,




